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SOCIAL WORK
Paper III

AHTSTRT
wateRt 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions. Each

question carries Two (2) marks. Attempt Al/ questions.
AT : A YR TRV UeEel (75) SgIAEl YR STed. Yo WeAl g (2) 9

3. & Y Hred.
1. Absenteeism is : 1. oTqafert =
(a) Intentional absence (a) SOfaqesh STTITEerd
(b) Un-intentional absence (b) TRk STurEerdt
(0 Habitual absence (¢ Graergul sTufeerd
(d) Un-authorised leave (d) sHfaRT
(A (a), (0, (d (A) (a), (o, (d
(B) (a), (d (B) (a), (d
C) (a), (0 C) (a, (0
D) (b), (0, (d) D) ), (o), (d
2. Motivation-Hygiene theory is coined | 2. WUM-g@fsH  fogr< a1 Im&RM
by : e
(A) Maslow (A) Hael
(B) McClellend (B) Hehclol-e
(C) H. Fayol (C) Td. ®IA
(D) Herzberg (D) BSter
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Assertion (A) : There is mono-
culture in cropping pattern in

Agriculture Industries.

Reason (R) : There is influx of
migrant labours in agriculture

sector.

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Third party intervention is known

as :

(A) Adjudication
(B) Counselling
(C) Arbitration

(D) Conciliation
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e (A) : T SEUNTG THARE T qieh

o1 feua oTe.

TIUT (R) : F AT TATRA HTHR

AfqUHOTT aed 3R,
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(B) (A) g (R) 3= TR Ted W
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(C) (A) & s 3R W (R) IF

(D) (A) T I 3R g (R) RN TR
T BT WS

(A) =rEfEreT

(B) WHUEYH

(C) w&”

(D) T




Standing order means ............

(A) Document having terms and

conditions of employment
(B) Order passed by High Court

(C) Standing instructions given by

employer
(D) Conciliation agreement

.............. suspension of work by an

employer.
(A) Closure
(B) Strike
(C) Lay-off
(D) Lock-out

The ESIC scheme raised the

monthly wage from :

(A) Rs. 6,500 to 10,000
(B) Rs. 21,000 to 25,000
(C) Rs. 10,000 to 15,000

(D) Rs. 15,000 to 21,000

5.
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R S BN e

LY o N ~ ~
(A) ARY/ASTIEEd=AT - JARTd =l

THEY THAS SIS

(B) 3= =N fead sTew

oS NI

(C) wretehr feetedl Tamfl g=m

(D) FHSIAT iR

J-’E'»l’l\;\l Hicdenlsh g1 enlHIA

(A) =&t

(B) ¥4

(C) A-31fh

(D) esaict

dumemad. @y mfes e

(A) 6,500 & d 10,000 %.
(B) 21,000 & d 25,000 %.
(C) 10,000 % q 15,000 %.

(D) 15,000 & d 21,000 %.
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Assertion (A) : In India employees
turnover rate is quite high in

industries.

Reason (R) : Burn out and low
morale at workplace is also high in

private sector.

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Third party intervention in case of

employer-employee dispute .........
(A) Arbitration
(B) Adjudication
(C) Conciliation

(D) Compromise
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ISATTE GHUT AT 3TT6.

HIUT (R) : @ISAT ST FY0i qumagd

Teerdlt eTfT =Aaw wMfee 8 A yHm

g1 s o

(A) (A) 9 (R) Tl SeRX 3Ted 30T

(R) § (A) ¥ 3T ST TR

(B) (A) 9 (R) T8l saR T8 Tl
R) T (A) 3 F TIEHFI AR

(C) (A) ® s 318 901 (R) Ih 38

(D) (A) & TF 3¢ g (R) TR 318

[a)

HTcAch—ShTHRTIR TSI STl ek sheladl

LY

(A) &R
(B) =t
(C) Hweir
(D) Teie




10.

11.

12.

The provision of CSR is under ..........
(A) The Companies Act 2013

(B) The Company Registration Act
2012

(C) The Corporate Responsibility
Act 2014

(D) The Corporate Act 2013

A mental hospital with 50% annual
............ rate would see half of its
discharged patients return within a

year.
(A) Recession
(B) Recovery
(C) Recidivism
(D) Classification

Which of the following is not a
function of a psychiatric social

worker ?

(A) Intake interview

(B) Developing plan of care
(C) Discharge decision

(D) Rehabilitation

10.

11.

12.
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1. TH. 3. =T S HLATA STAd 38 ?
(A) & HERT 2013

(B) Ul Higoit shE| 2012

(C) N |HIfSTes ST shraeT 2014

(D) RARE R 2013

= FARIUIEETd FsieRtet 50% L=
ST 3TN T ONerTe TN el
THesterel 170 €701 et aeiean o7 9
el feweta.

(A) W&l

(B) =R 2%
(C) Yas1 |
(D) eRftTo

AFYIIER. SR w1

(A) Ta9T Helrerd

o

(B) shTessi=n ae" dar {0l
(C) T <vam=n
(D) e
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13.

14.

Which of the following disorders are

genetically caused ?
(a) Down syndrome
(b) ADHD

(0 Asperger syndrome
(d) Phobias

Codes

A) (a), (b)

(B) (a), (d

©) (a), (©

D) b), (0

Which of the following professionals
in the field of rehabilitation cannot

apply for RCI accreditation ?
(A) Clinical psychologist

(B) Social workers

(C) Speech therapist

(D) Medical practitioners

14.
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A) (a), (b)
(B) (a), (d
©) (a), (0

D) (), (0

ATk hIvTd SHTeE R STC.HT. 373,

HATRATEEST 3T h& Yehd AR 2

(A) STHRE HEEIERAT
(B) 9HTST hrdahdl

(C) 9= IUERAA

(D) =R A




15.

16.

Assertion (A) : Prevention of
sexual harassment at workplace is
a myth.

Reason (R) : Employer and
employees strictly adhere to gender
equality.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A) is true and (R) is false
(D) (A) is false and (R) is true

Assertion (A) : Trade Unionism in
India is in doldrum phase.

(B)

Reason (R) : Competitive market
economy and globalization has
changed management policy and
practices.

Select the correct answer from the
codes given below :

Codes

(A) (A) and (R) are true and (R)
is the correct explanation
of (A)

(A) and (R) are true and (R)
is not the correct explanation
of (A)

(A) is true and (R) is false
(A) is false and (R) is true

(B)

(®)
(D)

15.

16.
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yfqey § ®ae fAus 9.

HIOT (R) : HicTeh 3T ShIATR AR
GHMGY  hISh R0l i hidrd.

Trell feoiean Sehdisyd 9d qd

Hehdich :
(A) (A) 3 (R) SI=I sRIeR ARd M0l
(R) ® (A) & 3T TR 3T

(B) (A) & (R) Tl ssX 3fed Wq

(R) § (A) ¥ 3T TR0 ATl
(C) (A) B SRIsR 378 901 (R) & ¥ M€
(D) (A) B I 378 971 (R) & R 21
faam (A) : YRAdIA AR FereT

feodt SramHE SR,
HRUT (R) : WHicqeh MY aeRus

3T ST TehT0T AT SHATLTAH 0!

7o yafed eRdd 9gd el TR

TTell fooiedr Fohdiemyd arfg 94

IREEINE

i

(A) (A) 3 (R) SI=I sIeR 3ARd M0
(R) § (A) ¥ 3T ST TR

(B) (A) & (R) S8l ae” 3fRd W
(R) ¥ (A) @ 3T TILIHI0 e

(C) (A) T s 378 W (R) T I 3T
(D) (A) T I 3¢ T (R) T I 377
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17.

18.

Which of the following is not a

function of medical social worker ?
(A) Administration

(B) Psychoeducation

(C) Hospitality

(D) Need assessment

Match the following for their
the
correct answer from the codes given

association and choose

below :

List I
() Chronic psychotic illness
(i) Phobia
(i) ADHD
(iv) Violent behaviour

List 1I
(1) Behaviour modification
(2) Hospitalization
(3) Environmental modification
(4) Electro-convulsive therapy
Codes :

(2 (1) (111) (1v)

A (2) (1) 3) 4)
B) @ (2) 3) 4)
© (@ 3) (1) 4)
D) @) (D) (2) 3)

17.

18.
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% .............
FE ATE

(A) gemEfTen
(B) AA-Teor
(C) eTefed
(D) RSN HeAHA

St aren i @t et Hehdieriad
Irg W e

et 1
(1) TrEHEE AHER TSR
(i) hIfa3
(i) TETTET
(iv) feg® =
EICU
(1) = =g
(2)

(3) TIAreR0l &gt

HFEIER THS R

BTUNAATT STl R0l

(4) TOFRI-Higardeg ORI

Hehdiah :

(1) (11) (111) (iv)
A @) (1) 3) 4)
B) @ (2) 3) (4)
< @ 3) (1) (4)
D) @ (1) (2) (3)

10
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19. Match the following and choose the | 19. <ireur of@r snfor @reft feoiean g@aw

correct answer from the codes given

below :

T W fHae

RICU |
List I
() Tasmwf=n
(1) Schizophrenia
(zi) SEIEA
(i) Depression
(7)) FeeeE RuwR™
(7i7) Conversion reactions
(7v) |
(fv) Mania
Tt 11

List II
(1) Suicidal ideation
(2) Emotional blunting

(3) Euphoria

(1) STcHEdehT SheqATTEd]
(2) YEfTed g

(3) AT 3Ta

(4) Writer’s cramp (4) TIeH HW
Codes Hehdich :
() (11) (111) (iv) (1) (1) §77) (iv)

A Q) (2) (3) (4)
B) Q) (2) (4) 3)
© (@) (1) (4) 3)

D) @ 2) (3) (1)

@ @ 2) (3) (4)

B) @ 2) (4) 3)

© @) (1) (4) 3)

D) ) (2) (3) (1)

11
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20.

21.

Name the technique used in group
therapy in which clients perform
roles, often playing the parts
of themselves in various
socially stressful situations and
sometimes playing the parts of their

antagonists :
(A) Psychodynamics
(B) Psychoneurosis

(C) Psychodrama

(D) Psychoeducation

Which of the models of community
organisation has the underlying
assumption that “Community
practice is based on the belief that
in order to effect change, a wide
variety of community people should
be

implementation and evaluation’ ?

involved in planning,

(A) Locality Development Model
(B) Social Planning Model
(C) Social Action Model

(D) Community Empowerment

Model

20.

21.
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SRl AT s=araer fafay |t
qureaqul fRedia w@i= q9a iRt

o

e forieenT=a1 qfHent IR dredrd oTem

e T IUER TSAHY ST TATE AR

el STl & h1d WU ?
(A) HAMIRT

(B) #SSiTferdhdl

(C) HAATE

(D) AFMEes  fRreor

oo e ded HvgEIet fafay

YehT=AT Slshie IS, STHeAsSIe o

MU HIATIAHES HAEY 3THU e

oA TRIdeh WG FHSATAT hIvTe

TEIS AR ?
(A) T fasm ey
(B) 9mifeier fasH wred

(C) 9IS &l W&

(D) T HEHIRIU Y&y

12
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22. Assertion (A) : The Constitution | 22 faegm (A) : YRA™ TTERT Fad 45

of India, in Article 45, clearly
intended to ensure that every child
received care and education from

birth upto the age of 14 years.

Reason (R) : But all along this
directive has been interpreted
narrowly as applicable only to the
education of children from the age

of five or six upwards.

Select the correct answer from the

codes given below.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

A Yodeh STCTehTell SIFHTARA o ST
14 =1 OO <hleasil 0T fRrafor sroamy
TV SITSATEA ol

HRUT (R) : T a1 Fa AFGIH qwm
fove wifed sai e 5 fHhar 6
o AT ST RIaomErdt @
sFad .

[V e

Tt fEeTel Hehdlehiqd ard S et

- -
-
-

(A) (A) 3707 (R) Tt SRIeR 3ATea 0T

(R) ® (A) & 3T TR0 3T

(B) (A) 31 (R) St sRIsR A& 401
(R) ® (A) & TgH TUSSIHI
Bl

(C) (A) T SR 318 997 (R) B Ik 38

D) (A) ® g% 3@ 907 (R) & s
3T

13
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23.

24.

According to poverty

among the tribes was created, not

evolved from within.

(A) M.K. Gandhi and Jawaharlal
Nehru

Jawaharlal Nehru and Elvin

Verrier

AV. Thakkar and J.H. Hutton

(B)

(C)
(D)
Assertion (A) : All NGOs are not

voluntary in nature.

Russel and Sardar Patel

Reason (R) : Voluntary organi-
sations are initiated by individuals
or groups of individuals for welfare
and development and NGOs are
initiated, sponsored and constituted
in India generally by government as

autonomous bodies for pursuing

some  specific development
objectives.
(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

(®)
(D)

23.

24.
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TTATATRT HITTEAT Ha  Arfeard

o o

[Aeh[Hd

R Ha Sie @
B s G M B 11 A 71 B 1 B

(A) TH. TEl ST TR TEw

(B) AT @& STl ead aReR
(C) TN SFRT MO A.TF. A
(D) WA =AM TER 9

faam (A) : 99 SWIERE G A
SRTIOT (R) : T Ede ST 91 SHedo] fehel
foreRTaTTSt SRRt fehall SHeRiT=A oM g&
Sholcdl STHAId AT SRMHRT TEe
YRATd ey fafeme fammg fese aren

FLIHES THRRA &, Rd A0
TRTfUd Sholedl STEdd

(A) (A) 9 (R) T & aIaX 3MTed 3TIfvT
(R) ® (A) & 379k TR R

(B) (A) g (R) T8l seR Ad T

(R) ® (A) 9 379 TR0 AR

(C) (A)§ aeR 318 9U1 (R) ¥ ek 318
D) (A) & Ik M TU (R) & IR

14



25.

26.

Panchayati Raj reforms were
introduced through the 73rd
Constitutional amendment to

facilitate :

(A) Planning at micro-level and to

strengthen the Gram Sabha

(B) Role of District Planning and

Development Council

(C) Implementation of Rural

development scheme

(D) Democratic decentralisation

Person is having affiliation with the
community in which he/she live

could be the member of :

(A) Personal Communities

(B) Communities of Locality

(C) Communities of Identity

(D) Communities of Practice

25.

26.
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SRIVIT STel T GATRIUT HITAS! 73

FEAGERd Tl TS HeeTHed
YR hedl el ?

[a) o

(A) g&H et

T ST U=

Teshe R0

(B) fSegr famm enfor faerg aRee=i

fHehT

(C) TTHT Torehtd AN STHTSSITEN

[ o

(D) rRIMEE

[a)

[eh Y]

~
h

ekl S FHSME drded id Al
AR O FAfAd oTd. TR el
TCTATdeh] iU FehRA] TR He

Iaq ?

(A) JafFasr gqE™
(B) T HHE™

(C) 3TcsEl= HHI™

(D) EHI IR HHEE

15
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27.

Assertion (A)
UNICEF, ‘state of the world’s
children 2009’ report 47% of India’s

: According to

women aged 20-24 were married
before the legal age of 18 with 56%
in rural areas. It also shows that 40%
of the World’s child marriage occur

in India.

Reason (R) : In India, through the
legal age for marriage is 18 years
for girls and 21 years for boys some
70% of Indians live in villages where
family, caste and community

pressures are more effective than any

legislative.

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 20318/III—A

27. fagm (A) : gHA®= 2009 HEA

STtk st feerdt’ STEeTaER. HRdTdiel
20-24 AN 47% Wfear= foame
FHEQIM a7 18 got= FIam. ST
SIeRTACYI fefeTer! JHToT UTHioT ST 56%
3% Td. IS B ITEATel STHE! @Il i

ST RO WU AT degiish 40%

I foag vRad giam.

SHRUT (R) : YRAW Heia i gar
FHIRIMR faam™ aa e/ gwy 18 =7fir 21
3T A T 70% = SEIH TEUIR
YV YRATAER HECAIE FHed, S

ST THET A= Saa e IRuTHeRRS
ST

(A) (A) 9 (R) T8I seRX 3fed 30T
(R) ¥ (A) & 379k TR0 R

~

(B) (A) 9 (R) T &R ARd T

(R) T (A) 3 TF TIREHHIT AR

(C) (A) T IR 3% T (R) Ik 378

(D) (A) T I% 3% T (R) SR 377

16



28.

29.

If you belonged to a tribe residing
in a PESA area, which of the
following would not be under the

control of your community ?
(A) Right to minor forest produce
(B) Right to hunt animals

(C) Right to decide on sanction of

projects
(D) Right to Minor Water bodies

The following are the dimension of

quality of life :

(a) Material Living Condition

(b) Health

(o0 Education

(d) Leisure and Social Interactions
Choose the correct answer :

(A) (a) only

(B) (a) and (b) only

(C) (a), (b) and (o) only

(D) (a), (b), (o) and (d)

JAN - 20318/III—A

28. I SR ‘TEl’ @F@ aaed iUk

Sfeardl HHSEME e 319, W

CICATCTUh hI0TdT BoRh JHET TSR

BREUIEIREEC I

(A) TRl a7 ST &

(B) ferepR shvam=n gk

(C) Uehed HSUER 01 =oam=n sk
(D) fotenie S@ aRugET ok

29. TUERTYU SaA @Teld Ue] TRd

(2) STTogm=n ifqer feerd
(b) AR

(¢ Torerm

(d) wrehedl dos SO WIS AT
e 9aE ferer

(A) &K (a)

(B) el (a) 37U ()

(C) ®H (a), (b) 3T (o)

D) (a), (b), (0 T (d)
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30.

31.

Which of the following is not a
financial power of the Gram

Panchayat ?

(A) Power to collect money

(B) Discretion in collecting money
(C) Power to spend money

(D) Discretion in spending money

The Student Social Worker (SSW)
found that her client, a child who
was a victim of abuse within the
family and was using ‘dissociation’
as a survival response to trauma.
The child demonstrated feelings of
uncertainty, puzzlement and conflict

about her identity.

Which of the following terms

describes the child’s condition ?
(A) Amnesia

(B) Depersonalisation

(C) Identity confusion

(D) Identity alteration

30.

31.

JAN - 20318/III—A

WA HIoa 3Tfefer AR Um-
TaEdE AT ?

(A) T Fewed oI AUERR

(B) T Feher wTvar fosi sifesmr
(C) ¥ =H wae SR

(D) T Td o fRm sifier

gaSeRd  fommedten o
AfvTargeYia 3@ «/d oA fo o

BlNED

FHLATAIA INSOTET Fedl T8 S

SIfASTIon BT A ST’ STTUATeh (]
FiqHE UH SYANG STl STefshl=A1

T Td =T el A=,

Tiees aAfor 9o fowa g

GCHTeTdeh! IO HeheTHT STeTshTel feerdt
Tufferd ?

(A) iy

(B) WA SgeToar=l el

(C) MY

(D) M@ secd
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32. Which among the following is not | g9 et HvEr TE= IR0 AT 2
an example of an Institution ?
(A) HHIIER HHT
(A) Peer group
(B) foare
(B) Marriage
(C) AEaY
(C) Kinship
(D) Family (D) A
33. Which of the following falls under | oq Frfeig o Y ATYE A T
prenatal mortality ?
Bl ?
(A) Early neo-natal deaths
(A) IH&RgE g
(B) Late foetal deaths
(C) Late foetal and early neo-natal (B) MM 9o
deaths
(C) T 7T AYewgE g
(D) Early foetal and late neo-natal
e ST STefehaT
deaths @) T =
19 [P.T.O.



34. The right of the elderly poor to

35.

be supported by children with
sufficient means can be enforced

of the Criminal

Procedure Code (CPC).

(A) Section 75

(B) Section 125

(C) Section 77

(D) Section 128

Right of children to Free and
Compulsory Education Act, 2009
guarantees public education, free of

cost to children between :

(A) 6—12 years of age

(B) 6—14 years of age

(C) 6—18 years of age

(D) 6—10 years of age

JAN - 20318/III—A

34. AT WEFHGA STETH YA STIE

35.

TS FEAT WERAAT hIUATAT AR

FYTRNh STHATSIIUT 0TS FTaEH

s N

IqUY AERUTHAT Fligd=a

A 3T

(A) & 75
(B) oW 125
(C) W 77

(D) <hetH 128

Ik HIhd o Hekiral a1 sen

RIS ICEIEER

foreror & HrRa feraomeR & 39
(A) 6—12 T
(B) 6—14 e
(C) 6—18 =3

(D) 6—10 TIEA
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36.

37.

Which of the following is a strategy
most commonly used in women’s

movements ?

(A) Campaigning

(B) Showing solidarity
(C) Advocacy

(D) All of the above

‘Learning  Without Burden’

recommends :

(a) Helping the child to link school
knowledge with everyday

experiences

(b)

Promoting examination loaded

system

()

Promoting joyful learning

(d)

Increasing curriculum content
(A) (a) and (D)
(B) (a) and (¢
(C) (b) and (¢

(D) (b) and (d)

36.

37.

JAN - 20318/III—A

HigclT=a Iddosidicl TRl FaETemgol

(oW

B LES LI

STae! SToTR]
(A) A
(B) THal Trefedl
(C) &weH

(D) a8 we

‘otz Ty fereron’ am=n TR
EXG

(a) TMCHE FEMET QAT A9 TS

TR T HEd hiol

(b) TRIET AT qEHA HI)
(0 3Fcgaa e qa&pa &0l
(@) SAEHAT ¥h a0l
(A) (a) 0 (b)

(B) (a) M0 (o)

(C) (b) 3 (o)

(D) (b) =0 (d)
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38. UNMDG stands for :

39.

(A) United Nations ‘Multiple
Development Goals’
(B) United Nations ‘Multiple

Development Grants’

(C) United Nations ‘Millennium

Development Goals’

(D) United Nations ‘Millenium

Development Grants’

One of the consequences of sex

stereotypes is that :

(A) It promotes equal opportunities

for women at all levels

(B) It undermines women’s
achievements attributing them
to luck rather than ability or

skill

(®)

It promotes nurturing and
showcasing of women’s talents

and skills

(D) It preserves culture and

traditions of the society

JAN - 20318/III—A

39.

(A) FTIEE W Aeedd SRauHe
el

(B) IS - HeRIUdl SeeldH=

o

PERS

J

(C) Fee Avrg fhaifam Sgaud=

e

b bV b b ~
(D) e =R THAMIH SRAIH<

.

PERS

J

S N

AfTeh gradg ddqren B Uk giony

e

(A) TlecTmed HeaweX A Hef
Hiefed ol

(B) WA= U] <=1 &4 fohan
IV Heeed 7 <l ARNeY A
A w9

(C) Tfecr=t wfqw, erar 2mfor shieresns
T ST Yehdrehiond  WiedTed
<0

(D) FHST=AT WA T Skt STad
HL0
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40. Which of the following is a terminal | 40. @Teiids! & Tl Hadl AN
method of contraception ? HEHEE UGl e
(A) Intrauterine device (A) T femrEd
(B) Condom (B) ®UEM
(C) Diaphragm (C) SI%MH
(D) Tubectomy (D) gs=Rr
41. Human rights expects these things | 41. HAF9 TR A=A 9S4l ¢ Tuafd
in respect to human being : T
(a) Recognition (a) @
(b) Respect (b) X
(00 Dignity (0 HHH
(@) Disparity (d) %=
A) (a), (D), (d (A) (a), (D), (d
(B) (a), (b), (0 (B) (a), (b), (0
(C) (b), (0, (d C) ), (0, (d
D) (o), (d) D) (o, (d
23 [P.T.O.



42. Assertion

43.

(A)

Economic

deprivation leads to crime.

Reason (R) : Because access to
resources is perceived as social

development.
Codes

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The concept ‘Social Reality of Crime’

is coined by :
(A) Karl John
(B) Karl Marx
(C) Lombroso

(D) H. Thaft

JAN - 20318/III—A

42. faam (A) : ef¥ie ofedar sTowen

43.

G i I A

HRUT (R) : TEAMT  SUANT S0

el M foashre FoSTen Sl

Hehdich :

(A) (A) T (R) S SR e ATor
(R) ¥ (A) 3 3T TR 3T

(B) (A) & (R) S8l SsR e 01
(R) ¥ (A) 3 TF TIRHHIT AR

(C) (A) T R 38 W (R) § T 3T

(D) (A)? I 38 W (R) ¥ SR T8

SIS HTHTSIh e & Hehed T AT
rEat

(A) wred S

(B) =hred e

(C) eIl

(D) A 9
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44. Child Welfare Committee consists of

members who has degree of :

Social work

(a)
(b) Child psychology

(0

Family welfare

JAN - 20318/III—A

44. A FHIU GEGHE 39T TS

N . ~
TGN 3T, ST S

TedT 3T
(a) THSTRHE

(b) STA-HTHREH

(0 HIA HAM

(d) Human development i p———
A) (a) (A) (2)
B) (a), (D), (d (B) (a), (b), (d)
(C) (o) and (d) (C) (o) =T (d)
(D) (b) D) (b)

45. ‘Petty offences’ generally means | 45. HIERUYY ‘ goeieh MY RIS AL
when maximum ................ years S Seq ferem ERICIIRE]]
punishment. SiGH
(A) 5 (A) 5
(B) 7 B) 7
) 1 ) 1
D) 3 (D) 3
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46. Assertion

47.

(A)

punishment ‘means the subjecting of

Corporal

a child by any person to physical

harm.

Reason (R) : But does not involve
infliction of pain as retribution for

an offence.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

‘A’ killed ‘B’ in self-defence, because
‘B’ was affecting ‘A’ with sword. This

is known as

(A) Culpable homicide
(B) dJustifiable homicide
(C) Murder

(D) Attempt to murder

JAN - 20318/III—A

46. faam™ (A) : ‘vftw gues’ wue

47.

STeTehTell ShIVICTR ToreuTs] IR ST

e ferol.

SRUT (R) : W I shored STIUEMT

ISl WA g Q0 IrE HHOR B

.

Hehdiah :

(A) (A) & (R) Sl SIS 3T_d A0
(R) T (A) & 3T TR 3T

~

(B) (A) d (R) Tl SRR 3Med Tg

(R) ¥ (A) @ 3T TILIHIU A
(C) (A) & SR 3718 W (R) B ¥k 3R

(D) (A) T I 31 G (R) T I 318
‘31’ 7 ‘T’ o TREIUEIS HRE, ROl

‘g' 7 ‘ST IR qAdRIT goell shild sidl.

(A) TTEaHrET SISt

(B) IEIETA HEEY

(C) &
(D) TAMET YA
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48 MCOCA iS . 48 4.qaﬁ3my ‘1%‘0]@ .
(A) The Maharashtra Control of
(A) T TERTZ wheldl A% HEH R
Crime Act
(B) The Miscellaneous Crime (B) & THARIFEY HiRH hgivl 252
Control Act s L oo o .
(C) < HRNIE hlel 3ATh ANMIZSS higH
(C) The Maharashtra Control of .
3
Organised Crime Act
(D) T MR T=X Ak HEH hard
(D) The Maharahstra Centre of
Crime Control Act e
49. The ‘Just World Phenomenon’ was | 49. T ‘Si& dce BEMA’ & Shedql I
coined by : e :
(A) Edward E (A) TETE 3.
(B) Mclver (B) Hehgeal
(C) Melvin Lerner (C) AdfaT R
(D) Maslow (D) Hga
27 [P.T.O.



50. Child Welfare Committee has power

51.

52.

to :

(a) Protect the safety of child

(b) Foster care of the child

(¢0 Refer the child for counselling
(d) Refer the child to higher court
(A) (a)

(B) (b

(C) (@

D) (a), (b), (o)

Failure to develop consistent

identity results in :
(A) Inferiority complex
(B) Role confusion

(C) Social isolation
(D) Stagnation

Looking glass concept of self-
development has been propagated
by :

(A) D.M. Austin
(B) C.E. Abraham
(C) C.H. Cooley
(D) S.E. Roche

JAN - 20318/III—A

50. ST hearo Tffdien & IfYer omed :

51.

52.

(a) STRTE GraTad
(b) STARTT UTTUSUT=  STeTeQR

(0 THIQYMERRAT drafaa
(d) S=a —Iraread qsfao

A) (a)
B) (b
©) (@
D (a), (b), (0

= guT AleE A i v
i

(A) = T

(B) yfHehmyan Tiges

(C) wmHIfSer foertentor

(D) =g

@ faeaEmeae ‘qfen e’ g

HhoTdl SeAcideht hIv Hiead! ?
(A) Slum. sfea

(B) ©1.3. 3TeIEH
(C) Hiu=. HA
(D) THE. U=
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53.

54.

The emphasis of community

organisation is an initiating a

process to :

(A) Achieve welfare of the
community

(B) Develop capacity of the
community

(C) Fulfil needs of the community

(D) Integrate groups within the

community

Which of the following are tools of

data collection ?
(a) Interview
(b) Questionnaire
(0 E-mail
(d) FGD’s
(A) (a), (b
(B) (a), (D), (o)
©) (o

(D) (a), (b), (o), (d)

53.

54.
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I oA W

gl HUITe 3T

(A) HHSEME Hedvl T hiv

(B) HHSHET=A &Hdl STafel

(C) HHSMEM=A TS HRTeOl

(D) ¥9qg 3Tl W™ HiHfad hol

TTeTeTdeh] 10 qeF HehaTd  HIEH
e ?

(a) HAEd

(b) SEATEA

(0 zhd

(d) TH.SI.EN.

(A) (a), (b)

(B) (a), (D), (0

C) (@

D) (a), (b), (0, (d

29

[P.T.O.



55.

56.

Which of the following schemes does
not have an impact on women

empowerment ?

(A) ICDS Scheme
(B) Swadhar Yojana
(C) ASIDE Scheme
(D) Ujjawala Yojana

Federalism is

(a)

Mixed or compound mode of

government

(D)

Combining regional govern-
ments in a single political

system

()

Centralization of power

(d

Regional government subordi-

nate to central government
Codes :
(A) (a) and (b)
(B) (a), (b) and (ad
(C) (a), (o) and (d)
D) (a), (D), (¢) and (d)

55.

56.
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Teierden! Il ASTEl  Afea
HerHfiehLomer. RO Freren e ?
(A) EHELuE. I

(B) TR A

(C) TUHE.IAELE. AN

(D) SSSIeT AT

(a) Thy fRen 9= TH YR

(b) IRf¥Teh TR A TR el

USRI TSThid SHeree

(0 TWd hglhu

(d) HIF THIALT TR THA

Hehdich :

(A) (a) 301 (b)

B) (a), (b) A (d)
(C) (a), (o) =il (d)

D) (a), (b), (o) (W (d)
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58.

59.

worked on achievement

motivation and goal setting

behaviour.

(A) Maslow

(B) McCleland and Atkinson
(C) McCleland

(D) Confucius

is not a quality of Robert
Redfield’s explanation of “The Little

Community”.

(A) Distinctiveness
(B) Small size

(C) Self-sufficiency
(D) Heterogeneity

The objective of the recently
launched scheme HRIDAY is :

(A) to provide subsidized treatment

to heart patients

(B) to fund medical facilities in

rural areas

(C) to create awareness about life-

style diseases

(D) to preserve heritage sites and

monuments

57.

58.

59.

JAN - 20318/III—A

=g fAfyadt 9 Hecamenial 90 Ier

(D) HHRIe™
el TEhiTe T Sholedl | oY TR’

I AGUTET FHEY B AT
(A) AN

(B) <&M 3AThR

(C) Uit

(D) fafy=an

FTeliohe & hoied ' ged " A 3fese
Hio ?

(A) 7T I FIAd=A <Ud TR
R0

(B) TTH(O YT SrErehia Glaemamer et
Ul

(C) Sieqsiaiet Hefud SSTRifasEt
SRt o S

(D) IRE T U TR e o
SLERCIU
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60. The concept ‘learning without

61.

burden’ is the outcome of :

(A) Yash Pal Committee

(B) Rajgopal Committee

(C) Kothari Commission

(D) Radhakrishnan Committee

CWC stands for :

(A) Child Welfare Committee

(B) Committee for Welfare of

Children

(C) Care and Welfare of Children

(D) Central Welfare Committee

60.

61.

JAN - 20318/III—A

‘ aMznfyrar foreror’ € WeheusT RO

HiHd Wied 38 ?

(A) JTaTeT QrHc

(B) T=FIYTA Gt

(C) B HEYH

(D) THMHHE FiHAT

ey /. BN

o0

(A) TEeS AAHSR HiF

o N

(B) =M™l

T dAheR Ah Feaegd

(C) H3R 3T JdahsR 3h Tacgd

(D) A=A AAHIT HiHA
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62. Crisis intervention is : 62. oTURT ST &
(A) A life-changing event . .
(A) SIF ISAIUMRI HHT
(B) Psychological first aid
(B) 9% JOHTAR
(C) A form of Dbehaviour
(C) I sgar=l Th TR
modification
(D) Gratification of personal needs (D) AR IR Tﬁ
63. A relatively permanent change in | 63. ST9aTEN TROTHEEU G BRI Ja
behaviour that happens as a result
PP TRl aed O
of experience is known as :
(A) =T
(A) Learning
(B) efsite fRraqon
(B) Life-long learning
(C) Experimental learning (€) =3 <
(D) Organizational learning (D) HeeAcHS LTI
33 [P.T.O.



64. Assertion (A) : Knowledge through

65.

empiricism involves gaining
knowledge through objective
observation.

Reason (R) : Knowledge not based

only on the experiences.
Codes

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false

(B)

()

(D) (A) is false but (R) is true

Which of the following is not an
unwelcome act or behaviour under
the Sexual Harassment of Women
at  Workplace (Prevention,
Prohibition and Redressal) Act,
2013 ?

(A)
(B)

Physical contact and advances

Demand or request for sexual

favours

(C) Making sexually coloured

remarks

(D)

Imposing a dress code on women

employees

JAN - 20318/III—A

64. faeam (A) : TARER W T a&+Tes

65.

iﬁ{'l&]ﬂllgli Altd A TG 3Tl

HIUT (R) : T ¢ heled STIHATE TETRA
.

Gehdieh :
(A) (A) @ (R) S8l s 3TRd 31101
(R) § (A) ¥ 3T TR TR

~

(B) (A) & (R) Sl s 3Med W
(R) ¥ (A) 3 T F TIREHF R

(C) (A) =R 378 T (R) § I 318
(D) (A) T I 31 G (R) T I 318

e

AT fowmon fomeaa ffe o
(wfqeer, aestra anfor famor) sifufaem,
2013 TIR Weierdeh! hior Fal fhan

AT @A e ?

(A) I Fue Ao Sees o=
I

(B) Imfter Haum=t Arron
(C) <ifiter IR@TSIt hY0T

(D) Hfge wmeR fafymse dmer=t
T

34



66. Assertion (A) : Regionalism is a

67.

major cause of social unrest.

Reason (R) : Because victims of
regionalism gets influenced by anti-

social activities and fanaticism.

Select the correct answer from the

codes given below :
Codes

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is true and (R) is false
(D) (A) is false and (R) is true

The Hindu Marriage Act of 1955
does not apply to :

(A) Buddhist
(B) Jain
(C) Sikh

(D) Parsi

JAN - 20318/III—A

66. faam (A) : 9IS SWISThdd ERte)

67.

HRUT YRIRTHAEE 3.

&HIUT (R) : YRRThdER™ 9@ ©

TUISTTorEdeh foRam ST ermierar I waret

A STHATd.

feiean Taharemyd ard w3

aer

F@ﬁ'ﬁ? :

(A) (A) 9 (R) Sl SR&X 3Tea TIfur
(R) & (A) 3 3o ST 3T

[aV
eIl

(B) (A) ¥ (R) Sr&l sleX Med Wy

(R) T (A) ¥ 3T TR0 ATl

(C) (A) T s a8 W (R) T I 3T

(D) (A)® I MR R (R) T SR 318
fig foome efufm 1955, @mciaye!
FIME A A ?

(A) dig

(B) S

) fam

(D) HRE
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68.

69.

In research these are the sources of

knowledge :

(a)

Superstition

(b)

Intuition

(00 Authority

(d) History

A) (a), (b)

(B) (a), (b), (o), (d)

(C) B, (o), (d)

D) (a), (d

In experimental research design, a
researcher used (a) ‘Counselling’
techniques for; (b) ‘crises resolution’.
Identify independent and dependent

variable :

(A) (b) is independent and (a) is

dependent

(B) (a) and (b) both are independent

(C) (a) and (b) both are dependent

(D) (a) is independent and (b)) is

dependent

68.

69.

JAN - 20318/III—A
G & A B SR
(a) UG
(b) A
(0 SRR
(@) sfas™
A) (a), (b)
(B) (a), (b), (o), (d
(C) (b), (o), (d

D) (a), (d

TATcHeR GINEE STRIESId HYeeh™

(a) THUSYM TF; (b) T TSV

IYANT S0 ATHED TadsT ST STIcfeId

T M@l

(A) (b) TG T 3T (4) STafad =

(B) (a) 01 (p) T @Wad =

(C) (a) Tfo1 (b) =T o =

(D) (2) WG T 3T (p) STATd =TA
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70.

71.

Assertion (A) : The demand for
reservations of various communities
for employment is increasing by the
day.

Reason (R) : The neoliberal policies
of the state have encouraged free
markets, reduced jobs and
endangered the survival of the
poor.

Select the correct answer using the
codes given below :

Codes

(A) (A)1is true and (R) is the correct
explanation of (A)

(A) is true but (R) is not the
correct explanation of (A)

(B)

()
(D)

(A) is not true but (R) is correct

(A) is not true and (R) is not
correct

The Honourable
Mumbai

High Court,
has recently passed
structures against the state
government for its inability to curb
malnutrition deaths in tribal areas.
Which of the following writs will be
“useful to citizens to prohibit
dereliction of duty by officer” :

(A) Writ of Habeas Corpus
(B) Writ of Mandamus

(C) Writ of Prohibition

(D) Writ of Certiorari

70.

71.

JAN - 20318/III—A
faem (A) ; Teadifcag IsrmrrEreT fafay
TSRS SREUT=  HEIO Eed
3TTR.

&HRUT (R) : G T9-SERAd! R0l
TRl SSTRUSH UIcHTE T Qard, USHIR B2

SR N N
TG ST He-Id AT

N~

ETeTeTdeh! STeeh Hehdieht= |

Hehdich :

(A) (A) T I M 00 (R) & (A)
q IH TR I

(B) (A) T SR 38 g (R) T (A) &
3T TR TS

(C) (A) ® =R &l 901 (R) & S
S

(D) (A) & SR &l 901 (R) Ih 3
sTfearl &ATdiel HATIOMS ST
AT 3Tesl STAvETd o FRehRall SISl
ST AR YHIa 3Teiiehed Hog 3o
I o8 HLhNEX feehTcreh Hd o5
Thel. AR AT HAATHE Thetal
JAY S IUATEES] AT ShIvT
Ikl ITPeR el ?

(A) TH HIdE =fen

(B) Hem™H Tfeh

(C) widsier f<rem

(D) a3 =Ararerar= Afc=ne e

98 ] :
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72. The basic single subject design in

73.

intervention research is known

(A) ABC design

(B) AAA design

(C) A design

(D) AB design

Human Development Index is a

composite of :

(A) Income, health and education

indicators

(B)

Poverty, human rights and

unemployment indicators

(C) Health, education and quality

of life indicators

(D) Income, trade and investment

indicators
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72. THHY HINEAMIA STURYA Teheh o=

73.

.

(A) 3Adgh ARES]

(B) 3TeT3T RS

(C) 3 ANEET

(D) A9 ANEET

faS

qe faerra

N S
GRllenld enlVld Hqerd =lcen

Aea ?

(A) 3T, ARFF 3Afor TRreroy

(B) TG, AT gk ST SRS

(C) TR, feoeror smfor Turamgof

Sfre

(D) 3T, SAMR A [dATTeh
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74. Normal distribution curve is of .........

75.

(A) Bell-shaped

(B) Skewed shaped

(C) Z-shaped

(D) W-shaped

Under which of the following

schemes are youth in the age group

of 18-25 years engaged as volunteers

to serve upto a maximum of two

years in nation building activities ?

(A) National Service Scheme

(B) National Cadet Corps

(C) National Volunteer Scheme

(D) National Youth Corps

75.
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(B) ehalcll- TRl

(C) FS-ThRI=T

(D) Y- 3ThI=I

ETATAdehl hIvTedT ASTeTdid, 18-25

TuiHLita a1 A S QI

el T A S EEdes

U 1A Al Ad ?

(A) TS Ter IS

(B) TS e i

(C) TS wWIgdsh A

(D) T Jal hi
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